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(i) This question paper contains three Parts : ‘A, ‘B’and ‘C".

(ii) Part ‘A’ is compulsory for all candidates.
(iif) Candidates shall attempt only one part of the remaining Parts ‘B’ and ‘C".
(iv) All parts of a question should be attempted together.

(v) Marks for each question are indicated against it,

T — ‘P (AETEITE)
' Part - *A’ (Accountancy)
IR e B BIE IR TER GHIE |
Explain any four kinds of Preference Shares.
ArI-wTRT U’ iR ‘®TT-arur ¥ B 2) R TaEy )
Give any two points of difference between *Gaining Ratio’ and ‘Sacrificing Ratio’".
aRade ot v et §oft F 91 2 s qarEd 2
Give any two points of distinction between fluctuating capital and fixed capital.
FHar wIe fde o oar € ? we HRAT |
What is Employees Stock Option Scheme ? Clarify.
fxaﬁqewmﬁﬁw@m%tﬁﬁrﬁr@amﬁﬁﬂm$wﬁmmﬁ,ﬁ
AIRE HWory § HiE grgur 7dY 2 _
() AT 6y 9EER &) 98 ufy af 2 10,000 91 & HfT FHwem €
(i) B#Wéaﬁmﬁm\%fﬁwwm%aﬁmﬁﬁwﬁﬁhm%‘]
(iii) ASR B Yot & w7 3 www: 210,000 31 720,000 w5 H AN | AT & 5 @i
&1 JEIRT TR B | 3

A and B are partners in a firm. State whether the claim is valid if the partnership agreement is silent in
the following matters :

(i) Afisanactive partner. He wants a salary of ¥ 10,000 per year,
(i) B had advanced a loan to the firm. He ¢claims interest @ 10% per annum.

(iii) A and B contributed 2 10,000 and ¥ 20,000, respectively as capital. A wants that the profits be
shared equally.
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6. W f&. & afga Toit 12,00,000 8 S % T 10914 20,000 Twam ot # fnfora &) g
J 12,000 FHAT A9 W=aT &1 AT BT 13 3R 39 T # T2 398993, T4 3T6eT W
T4 74 YA g7 Afx T W 47 € | Wl IR qureg e B i # | o a6 gt
# WHd B HEEF oW HIAT | 3
The authorised capital of Mohan Ltd. is ¥ 2,00,000; which is divided in 20,000 equity shares of ¥ 10
each. Out of these shares, 12,000 equity shares have been issued to the public payable as : ¥ 2 on

application, ¥ 4 on allotment and T 4 on first and final call. All the amounts have been duly received.
Pass the necessary journal entries in the books of company.

7. 31-12-2012 &7 AATK §¢ a¥ @ o0 3™ vd wivE @mar 2 10,000 B e wfife gufar 2

IS ARl | ¥ rar w4 # -

31-12-2011 @Y ASH QT T 2,000 T |

31-12-2012 &Y 37T °=T T 4,000 AT |

31-12-2011 @Y 311\ g1 =T T 3,000 o7 |

31-12-2012 B 3 U ==T T 2,000 o7 |
31-12-2012 B WA 8Y ¥ & foQ o ¥ g5 amy & v HIR 4
The Receipt and Payment Account for the year ended 31-12-2012 showed a debit entry of T 10,000.
From the information available, it is found that :

Subscription outstanding on 31-12-2011 was ? 2,000;

Subscription outstanding on 31-12-2012 was ¥ 4,000,

Subscription received in advance as on 31-12-2011 was ¥ 3,000;

Subscription received in advance as on 31-12-2012 was ¥ 2,000;
Calculate the income from subscription for the year ending 31-12-2012.

8. W 3R WM 5:4F U % ol oY died BT ARER ) 4 A @) v @ 13 R\ @ frg
. w9 d € R 98 v 9 2/9 3R g™ & 1/9 o ® 3R 21,500 Mm@ v F wren &1 Wgw
D TV W AEWF wHd ufaikedt A 4

Ram and Shyam are partners sharing profits in the ratio of 5 : 4, They admit Mohan in the firm for
1/3rd profit which he takes 2/9th from Ram and 1/9th from Shyam and brings ¥ 1,500 as premium.
Pass necessary journal entries on Mohan’s admission.

9. IR HfAY - 242=4
(@) arfdrma oft 7 fArifa Toi (@) aief @ &vor AR fwf B Fwdor
Distinguish between —

(a) Authorised Capital and Issued Capital (b) Forfeiture of Shares and Surrender of Shares

10. TF HRET 7 10 e 3,000 THAT Y 10% Fert R fifw f6d) 37 w z20mea w
T3 amdeT W 3R T 5 e U9 ifvw g W 3w ¥ | 1w A, Rrad o 800 3w € wem
af<a gree BT T e fdur| o SES el B o o foran T ok = 5 ufdew
werh W q: i fohan man | vt Y gt ¥ ofell & &wv vd gaEftes a9 Y ol
wfafeedt Ffdrg | 4
A company issued 3,000 equity shares of ¥ 10 each at a discount of 10%. On these shares payments are
to be made as follows : ¥ 2 on application, ¥ 3 on allotment and ¥ 5 on first and final call. Ram, who is
a holder of 800 shares, has not paid the first and final call, hence, his shares have been forfeited and

have been re-issued at a discount of 5%. Make journal entries in the books of the company for the
forfeiture and re-issue of shares.
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Frifta zemslt & Afo & geret 3 ofa @ smavas oY FIRT — 242=4
(®) T 100971 2,000, 7 % FOITT WEET W i fRd T & SR 39T W 4 % s
W far amr &

(@) 10091 2,000, 7 % FOTF 5% FEN W A 5 T § v T T 2y v
WA W g 2

Pass the necessary journal entries in the books of A Ltd. in the following cases —

(a) 2000, 7 % Debentures of T 100 each are issued at par and are redeemable at 4 % premium.
(b) 2000, 7 % Debentures of T 100 each are issued at 5 % discount and are redeemable at 2% %

premium.

. FrefaRaa | @ @ s s Hife - 343=6

(®) RIS, 7:3% IqUT 3 AI—nT BT Mo P Y WISeR & | ToH 73 weeR
B WY A WAW owar € SR RN 277 S9 /7 W e 21

(@) X3 Y,7:3% Jgur # dArvi—aify &1 oo o gu Wi 4 §| 2 9 kR 3
B9 3 e T S @1 2 wer § Xoww R & 1/7 %7 @mt v @ ok Yoary Ry
@ 1/3HT W Bl 2|

Determine the sacrificing ratio from following —

(@) RandS are partners sharing profits in the ratio of 7 : 3. T joins the firm as a new partner and takes
2/7 from R and 1/7 from 8.

(b) Xand Y have been in partnership sharing profit & Loss in the ratio of 7 - 3. Z is admitted as a
partner. X surrenders 1/7 of his share and Y surrenders 1/3 of his share in favour of Z,

4T (OR)
T WA B A T AR a9t @ <R il g @™ wer -
oL R % 20,000 qarg a§ ¥ 28,000
fecdg af ? 22,000 Tqf af ¥ 34,000

mﬁaﬂﬁrﬁa’rﬁafﬁrﬁn,zopooﬁiWﬁmﬁwﬁgﬁsﬁwrﬁmnﬁrﬁaﬁw
w%%lwﬂﬂﬁmﬁ?#maﬁﬂaaﬁmﬁ$?ﬁ?aﬁ%mg@a}mwwﬁ$qm

B UL DIRAT | 6
A partnership firm eamned net profits during the last four years as follows —

Ist Year 20,000 3rd Year T 28,000

2nd Year T 22,000 4th Year < 34,000

The capital investment of the firm is T 1,20,000. A fair return on the capital having regard to the risk
involved is 10%. Calculate the value of Goodwill on the basis of 3 years purchase of average super
profits eamed during the above mentioned period.

13. m%ﬁé@%wnﬁawwmﬁ?mmﬁﬂomzo,oooaﬁﬁ$%qm&mmmﬁaa
fg |y =, ardes, WH AT N AT AT TS oY 2250 37 B F1 30,000
3t & forg welAr o3 oy gw | et F ofvi @7 freifa sees Rvar —

15,000 3% & 3MATH DI —  WEOT e
9,000 3N B IMEASHT B — 5000379
6,000 3EN @ JATHT B - Y TE
sriar yaftedt ST, 78 A g1 5 ot 3t smae o At w3 W aln
B e B 6.
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Tata Ltd. issued a prospectus inviting applications for 20,000 shares of ¥ 10 each, payable on application;
on allotment; on first call and on final call ¥ 2.50 each. Applications were received for 30,000 shares.
Directors allotted the shares as follows —

To applicants for 15,000 shares —  Full allotment

To applicants for 9,000 shares — 5000 shares

To applicants for 6,000 shares —  Nil
Give journal entries assuming that all sums due on allotment and calls have been received.

3eET (OR)

Rre fafes 7 2 100 @@ 1,000, 15 wfea ®o-wa 10 wfem Wiy w fFrife o @
fr=feRaa wr | < & -
AT W ¥ 25 (¥ 5 Mifvgw wfga)
ded W T 25 (T 5 NfAaw wflza)
word 9 T IraEn W) T 60
1,400 FO-931 & Q0 wrfT—u3 wra gY ok W smiTel @ sruie amaed v R
AT | ATATA-9F B W G 3o R wret g¥ I andes o <7 ¥ ¥ wanr fvar
FOR B [P A S B amavas wlifedt Hifg
Shiv Limited issued 1,000 15% debentures of ¥ 100 each at a premium of 10% payable as follows —
¥ 25 on Application (including premium of ¥ 5)
¥ 25 on Allotment (including premium of ¥ 5)
¥ 60 on First and Final call
Applications were received for 1,400 debentures and the allotment was made to all applicants

proportionately. Money overpaid on application was utilised towards allotment. Pass necessary journal
entries in the books of the company.

14. o= wo@ & Freafolea qaar @ smR W sma—am @, 31 w2012 @ o &R
g — 6
T 94 @ T THA g 240
e T B T A & T 360
U] 99 @ T U 78 g 2 60
AT — B BT FHIAT T 20; BHIST Yob T120; AU TE ¥ WG HH T 250.
YIAH — A9 T 200; HOHA T 24; OUE 9T @A WO T 60; o UE @) W)
¥ 170; drIER @ AR ¥ 136; faorel ¥ 80 vg R 7 fhRwaT T 100 |
ITT AT — WA Y T 16; TAUH & QA T 44; Ads q@t | A, 2012 B T 36
qr 31 R, 2012 37 T 56 |
On the basis of following information, prepare Income & Expenditure Account in the books of Hind
Club for the period of 31st December, 2012 -

Subscription received for the previous year T 40.
Subscription received for the current year ¥ 360,
Subscription not received for the current year  60.
Receipts — Rent of room ¥ 20: Games Fees T 120; Cash received from canteen T 250.
Payments — Salaries ¥ 200, Repairing ¥ 24; Printing and Stationery ¥ 60; Canteen articles ¥ 170;
Wages of Watchman ¥ 136; Electricity ¥ 80 and Rent and Taxes T 100.
Outstanding Expenditure — Repairing expenses ¥ 16; Canteen articles ¥ 44; Cash balance on
January 1st, 2012 ¥ 36 and on 31st December, 2012 X 56.
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15. A, B3R C a1 amfeiep facger, ot f &Y e &1l &1 #en: 6:5: 4 B U ¥ died 9,
31 fawaz, 2012 @ fA waR e -

4Gt vd g SRR "Rt BERIR

4 T
fafder oFeR 15,000 A @R e 50,000
37 fgs 7,000 BHER 7,500
ot @t e 38,000
A ¥ 40,000 TG 15,000
B ¥ 35,000 e fag= 7,500
C ¥ 25,000 1,00,000 qIHE TY A 4,000
1.22,000 1,22,000

T T4 g3 A1 fh 1 SaR. 2013 BT D &1 WA fovar e 3R f=iforlRa wat @ erar o

A 1/10 fEar o @y -

(i) @ wEER DU+ R Y GOt @ w9 # 215,000 3R =iy & forw 7,500 Fwg @mom
R g wm9eRt gt AW & forn s

(i) VP BT TTHAIBT T 34,200 W AR HAMGR FT ¥ 6,600 I¥ fwar e |

(iii) =y =or Sl 21,300/ a9y

(iv) 4fr o v & o F 215,000 9 gy &l

ST WagER! @ o @ forg IoemT @Y amavne wifcal @ifig sk am—gif

ARG @ @ 8a | hitp:/www.ukboardonline.com 8

Balance Sheet of A, B and C, who shared profits and losses in the ratio of 6 ; 5 : 4 respectively, as on
31st.December, 2012 was as under :

Capital and Liabilities Amount Assets Amount
L4 R

Sundry Creditors 15,000 Land and Building 50,000

Bills Payable 7,000 Fumiture 7,500

Capital Accounts : Stock 38,000

A T 40,000 Debtors 15,000

B T 35,000 Bills Receivable 7,500

C T 25,000 1,00,000 Cash in Hand 4,000

1,22,000 1,22,000

It was decided to admit D on Ist January, 2013 and given him 1/10 share in profits according to the

follownig terms -

(i)  The new partner would bring in T 15,000 as his share in capital and ¥ 7,500 as goodwill in cash
which will directly be taken by the old partners.

(i1} Stock would be revalued at ¥ 34,200 and Furniture at T 6.600.

(iii) Provision for bad debts to be made ¥ 1,300.

(iv) Land and Building to be appreciated by ¥ 15,000.

Pass necessary jounal entries to record the above arrangements and prepare Profit and Loss adjustment

account.

AT (OR)
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A,B3IR C,3:2:1% 31U # anil & fuma Sea §U WIRe N =aara ¥ €1 31 |, 2013
&1 g anffe faeeT fFr=afafea or —

Il ve <1 g1 et NI
z  q
IR 8,000 d® 1,600
27 faum 1,600 vefoar 10,400
ot @ IR 12.000
A % 16,000 T 9,600
B 712,000 A 3R wa= 14,400
C ¥ 10,400 38,400
48,000 48,000
A, 1389 2013 @ 3@y o ol & 3R 9w fafy o w1 o wwfml iR qfd) @
e et yer & T
efoar 29,600 AER ? 11,200
LN T 8,800 & 3R waq ? 18,600
THER T 7,900 ORGLE ¥ 1,500
e =d 7 800

T A gY & STdE wereEg a) ) T €1 A aEery mik ) 9wa Toh | & Ay
P IHS WO W A FEORA Y AT T ] | AAH @ gAY |

A, B and C are in partnership business sharing profits in the ratic of 3 : 2 : 1. Their Balance Sheet as on
31st march, 2013 was as under -

Capital and Liabilities Amount Assets Amount
4 4

Creditors 8,000 Bank 1,600

Bills Payable 1,600 Stock 10,400

Capital Accounts : Debtors 12,000

A T 16,000 Machinery 9,600

B T 12,000 Land and Building 14,400

C T 10,400 38,400
48,000 48,000
A retired on April 1, 2013 and on that date assets and liabilities of the firm were revalued as under :

Stock ¥ 9,600 Debtors 11,200
Machinery < 8,800 Land and Buildings T 18,600
Creditors 7,900 Bills payable T 1,500
Outstanding Expenses T 800

Assuming that the above adjustments are duly carried through. After A's retirement, balance in his
capital account is transferred to his loan account. Prepare necessary accounts.
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AT — & (i Rzl o1 faveym)

Part — ‘B’ (Analysis of Financial Statements)

16. fxig ol & favewo & 58 < [l o ddg § WA 2
Explain briefly any two techniques of analysis of financial statements.

17. Ups 48T feor @ 8 ? 2
What is cash flow statement ?

18. faxfra Rarvi & vt &= Stval @ weg & wrengd | 3
Explain briefly any three objectives of financial statements.

19.aﬂhﬁﬁsmﬁmﬁf®aa3uﬁaﬁmﬁmjﬁ— 1x3 =3
(@) w1 saet srqaT (@) it st argemer
(m) wReEmer U

Show how you will calculate the following ratios —
(a) Inventory turnover ratio (b) Capital turnover ratio
(c) Operating ratio

20. Afd. R B & gaTore sifee Y wew & -

Afa B fa.
L4 {4
T TraRw 4,00,000 6,00,000
B AT 80,000 2,00,000
@ gfaady 3,20,000 4,00,000
RS FYA) BT FOT-5M9S) U Fawife | 4
The comparative figures of A Ltd. and B Ltd. are given below —
ALtd, B Ltd.
4 4
Total Assets 4,00,000 6,00,000
Total Liabilities 80,000 2,00,000
Proprietors’ Fund 3,20,000 4,00,000

Calculate the Debt Equity Ratio for each company.
21. 31 feEmR, 20127 2013 D f Riee wavar fa. ewr wraa fed 1 & -

M 2012 2013 vy 2012 2013
T 4 L 4

3w g 3,00,000 | 3,00,000 | wa9 weAT WE | 2,50,000 | 2.40,000
AT Ja9d 13,250 6,000 e gerar ' 45,000 42,500
fafder SR 4250 2,000 | wi® 2.500 500
STER 7,500 5,000

AP 12,500 | 20,000

3,17,500 | 3,08,000 3,17,500 | 3,08,000

af 2013 % Fooelt gy @Y T R £10,92,500 | B gRT P wmaw 8 A
2| WE T e @ gl A aRed ol 2013 @ #9 @ BROT 8| Ade—a8a A daR

BTy |
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Ekta Ltd. has presented the following Balance Sheets as on 31st December, 2012 and 2013 -

Liabilities 2012 2013 Assets 2012 2013
T (4 ;4 3

Share Capitals 3,00,000 | 3,00,000 Building Less Dep. | 2,50,000 | 2,40,000
General Reserve 13,250 6,000 Plant Less Dep. 45,000 42,500
Sundry Creditors 4,250 2,000 Stock 2,500 500
Debtors 7,500 5,000

Cash 12,500 20,000

3,17,500 | 3,08,000 3,17,500 | 3,08,000

Sales made by the company amounted to ¥ 10,92,500 during the year 2013. No dividend has been paid
by the company. The changes in Building and Plant Values are fully due to depreciation charges for
2013. Prepare a Cash-Flow statement.

AT — A (e i)

Part — *C* (Computerised Accounting)

16. &0 A Rier 7 wediual U 999 A ufhar W | 2
Explain the process of creating single and multiple groups in Tally.

17. goraie dedie 7 8 ? 2
What is electronic spreadsheet ?

18, SERN YA yomelt & &ig 9 Rdwant garge) 3
State any three characteristics of database management system.

19. TAd H 991 WM 9Tl ©: 9Tef & A qaTgy | 3
Name any six charts that can be created in Excel.

20. "SR Yoo’ A 39 397 wEEd § 7 3
What do you mean by ‘basic query’ ?

21. (@) ¥ woemT f1. 60 =il &1 s wva € R 3w 3 99 Jom, wEmd v, qee R
e e el &Rt e wifer &1 e @ P Pram @) s Y o e @
fore FafoRed sreT o1 THOw. Taee 3 S9AT SR g0 TE.ATd. o we farfa
AH fdRrr 9= 0 ¥ 30,000 H 9d9 OF ¥ 5,000; ¥ 40,000 A 994 b T 6,000;
¥ 50,000 9 A9 & M W 7 7,000
e ARIYRT A — A AT BT 30% DI X F ABA AR T 6,000 ' 4
M/s Mahendra Ltd. employes 60 persons whose salary comprises basic pay, deamess allowance,
house rent allowance and city compensatory allowance. The following are the rules that govern
the payment. Write the queries in SQL using the following data in MS-Access to compute the
allowances :

House Rent allowance : T 5,000 upto a Basic pay of ¥ 30,000; ¥ 6,000 upto basic pay of T 40,000;
¥ 7,000 for basic pay above ¥ 50,000.
City compensatory allowance @ 30% of basic pay subject to minimum of T 6,000.

(@) =1 o @ R R AWfkE 7 aiffe e B R B T o Sredie wifer ol | 3
FO Pl ORI —- 210,000 WU Y aafy —sad Wi frwal @ eRRIf ~ 2200
Write spread sheet formula to find out monthly and annual rate of interest on the basis of following
information -
Loan Amount—-¥ 10,000  Term of loan - 5 years ~ Amount of monthly instalment - ¥ 200

RRARRES '
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